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1.
Fill in your name, student ID, and section above.  Choose some keyword for yourself that I can use to anonymously post grade information.  If you do not choose a keyword, I cannot post your grade information if needed.

2.
This is a CLOSED book, CLOSED notes, NO CALCULATOR test.

3.
The test is worth a total of 100 points.  The value for each question is given either at the top of that section of questions or in curly braces to the right hand side of the question.  There are extra credit questions at the end of the test worth an additional 10 points total.

4. If you do not understand a question, raise your hand and I will come over for you to ask me about it.  I may or may not answer your question but you should still ask.

5. In questions where I have given you code to use, if you find typos, assume that the code is SUPPOSED to work and just indicate what assumption you made for your answer.  This applies in all cases unless the question is specifically about the syntax of the code - in which case there are errors on purpose.

6. I will always try to give partial credit so the more of your work that you show, the more I am able to grade for partial credit if the answer is not entirely correct.  It is to your benefit to show your work on the test.

NO CHEATING!

Multiple choice questions are worth two {2} points each.  Please circle the letter indicating your choice for the answer.

1.
Which of the following would NOT be a valid bit field member for a struct?

A)
int bitty : 3;

B)
unsigned   : 0;

C)
unsigned  bitty : ;

D)
int bitty : 0;

2.
Use the following code fragment to answer the questions below:
{12 total; 2 pts each}

typedef long double bigol;

static int alpha;

float beta;

int main(void)

{
char gamma;


register short delta;


auto double epsilon;


bigol zeta;

// assume code here 

}

Name the variable with the described characteristic in the code above:




Variable created with a storage class that supports portability




Variable for which a specific storage location is requested




Variable which would be global to a file but not linkable to another file




Variable which makes its default storage class explicit




Variable which is global and linkable




Variable which is automatic and local by default



3.
Identify the C constructs by the reason Dr. T does NOT want you to use them:



{8 total; 2 each}



Intentionally crashes your program



Skips code inside a loop instead of structuring the loop



Jumps out of a loop in the middle instead of stopping the loop



Jumps randomly to any part of the program

4. Given usable values for two integers eta and theta, write a code fragment to multiply eta and theta, sum the product with an existing value iota, decrement eta and theta, and then if they are both greater than zero, repeat the loop.  This loop must run at least one time. 



{6}


5. 
Write in words the meaning of the following declaration:
{5}



int * (*omicron( int pi, int * rho)) (int sigma);

6. Write a loop which does the following:  
{8}
For x > 0, return x2 + (x-1)2 +(x-2)2+ .. + (x – (x-1))2 +(x – x)2

For x = 0, return  0
For x < 0, return x2 + (x+1)2 +(x+2)2+ .. + (x + (-x-1))2 +(x + -x)2

7.
Create a variable that can be used to link to a file for input and open the file “myin.txt” for reading using the variable.
{5}

6.
Do the following:

a) Define a struct that can hold the following information:  The name of a piece of artwork, the year it was created, the artist’s name (first, middle and last), an enumerated type giving the media the artwork is made in (oil, watercolor, pastels, photo, print, or mixed media), the artwork value as a monetary amount, the insured value as a monetary amount, the city and country it is housed in and a pointer to another struct of this type.





{8}

b) Create a struct pointer of the type you just defined.  Use the struct pointer to store the following piece of art.  “les betes dela mer”, 1950, Henri Matisse, paper cutout, $35,000, $50,000, Washington, DC, USA.
{5}

c) Create a pointer of the same struct type and set it to point to the Henri Matisse artwork struct.


{4}

9. Given the function below answer the following questions:

int nu( int xi )

{

if ( xi < 2 )


return 0;

else


return nu(xi – 1) + (2 * (xi – 1) – 1);

}

a) What is the value of the call nu( 5 ) ?  Show how you worked out the answer.
{5}

b) What value is returned for  nu( 7 )?
{3}

c) What is function nu doing with respect to the input xi?
{5}

10.
Given the declarations below,

char kappa[80];

char * lambda;

int mu;

Write a code fragment to use getline to read a line of input from the keyboard.  Store this input in kappa.
{6}

11. Write a recursive function which does the following:  
{10}
For x > 0, return x2 + (x-1)2 +(x-2)2+ .. + (x – (x-1))2 +(x – x)2

For x = 0, return  0
For x < 0, return x2 + (x+1)2 +(x+2)2+ .. + (x + (-x-1))2 +(x + -x)2

12. Write a switch statement to do the following:
{8}

For Monday, Tuesday, and Wednesday, print “Uphill”, for Wednesday print “Hump day”, for Thursday print “Almost”, for Friday and Saturday print “Party!”, for Saturday and Sunday print “Weekend”.  (If you use an enumerated type, be sure to define the type.)

Extra Credit questions  - Worth two {2} points each unless stated otherwise.

XC1
Fill in the blanks with one of the following words or letters:  {4 pts total, .5 pts each}



STACK (S), QUEUE (Q), LINKED LIST (L) or NONE (N) 





First in, first out data structure





Must be implemented with pointers





Data is pushed in and popped out





Any one element must be connected to two or more other elements 





Last in, first out data structure





Every element is reachable by index





Elements may be added or removed from any location





Elements are added at one part of the structure and removed at 




another

XC2.
Code the following declaration:
{4}


tau is a pointer to a function which takes 3 inputs, a pointer to double, a character and a string, and returns a pointer to an array of integers.

XC3.
Raman covered Ch. 7 and 10 for us in class.  Please write any comments you have that would help him improve his teaching.  Positive or negative comments are fine, just be polite.



{ANY answer will receive 2 (two) points}
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